Algebra 2 NameMM“ ID: 1
SkillS CheCk Date Period
Solve each equation by taking square roots.
1) 9-7r2=-128 “N1c?==-\\Q
vA= \7
\©=xVviq
Solve each equation by factoring. ,
2) 8n-1)(n+2)=0 Bn-1=0 n=x2=0
B8n = ns-2Q
QR EE S Pla+Sp-6=0 PpP*e=0 p-izd
(P rcXp-\N=0 =6 _p=\)
4) v’ =6v N? =ov=O
VIN=-LN=D

o v=o)

Solve each equation chompleting the square.| You nust ue ths methned.

5) rP+6r+5=0 s iy 25 pi_\_\p =-9
)r‘-lo,(or-\-q =-5vq Pa-\\?-\-‘-\‘-"e"'“
(rad? =y (p-ad? =-4
rad =2 poac==
6) p2—4p+8=0 s 3*: 5 LP:ata‘l\
vz -3 %\
NN3ran =9 8) x¥-tx =-g
7 n* +2n+10=1 ha*a“~\ =-C\\.-\ xa _@x‘\q '—"‘8*q
(nv1)d=-g (x=3)? =\
n¥iz £a\V3 x-3 =X\
8) x’—5x+5=x-3 h-‘-‘\ia\s'& ' x=3%L)\
A= 3x\
" x=a-y

(x:t-\&-‘.ﬂ
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Simplify

9.2++/-16 3. %W,

10. 4i@- > Y+ \_3_@1 2/? -\ % Vg

T N s 139
g

e & . -1
N @Y
True or False

DU e N
12. (x+2)* =x*+ (33:*31

12,

13. 3+ 742 =1042 W3+ bx *ex + 9 12. False.

14. (2x+3)? =2x* +12x+9 4. Eolse

15. If the vertex of a quadratic is (3,5), then the axis of symmetry isy = 5. *';‘) ) E‘ L& X= 3

MUST Swow Work!
16. Find the y-intercept of f(x) = x2+3x-18 4 e,
L) = 03+30)-\8
= —\Q (0,-\9)
17. Find the x-intercepts of the graph by factoring. 10,

Cx) = 24Dy —\D xint:
=(xxbtx-3) (-6 ,0)
x= =6 + 3 (.31°_> '

18. Draw a sketch of the graph based on your answers for 16 —17.

\o,12)!
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